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SECTION A: Multiple Choice Questions (20Marks)

1. Which one of the following variables is not categorical?
A. Age of a person.
B. Gender of a person: male or female.
C. Choice on a test item: true or false.
D. Marital status of a person (single, married, divorced, other)
2. Which one of these statistics is unaffected by outliers?
A. Mean
B. Interquartile range
C. Standard deviation
D. Range
3. A list of 5 pulse rates is: 70, 64, 80, 74, 92. What is the median for this list?
A. 74
B. 76
C. 771
D. 80

4. Which one of the following would indicate that a dataset is not bell-shaped?
A. The range is equal to 5 standard deviations.
B. The range is larger than the interquartile range.
C. The mean is much smaller than the median.
D. There are no outliers.
5. The value of a correlation is reported by a researcher to be r = —0.5. Which one of the following
Statements is correct?
A. The x-variable explains 25% of the variability in the y-variable.
B. The x-variable explains —25% of the variability in the y-variable.
C. The x-variable explains 50% of the variability in the y-variable.
D. The x-variable explains —50% of the variability in the y-variable.
6. What is the effect of an outlier on the value of a correlation coefficient?
A. An outlier will always decrease a correlation coefficient.
B. An outlier will always increase a correlation coefficient.
C. An outlier might either decrease or increase a correlation coefficient, depending on
D. Where it is in relation to the other points.
7. A chi-square test involves a set of counts called “expected counts.” What are the expected counts?
A. Hypothetical counts that would occur of the alternative hypothesis were true.
B. Hypothetical counts that would occur if the null hypothesis were true.
C. The actual counts that did occur in the observed data.
D. The long-run counts that would be expected if the observed counts are representative
8. Pick the choice that best completes the following sentence. If a relationship between two
Variables is called statistically significant, it means the investigators think the variables are
A. Not related in the population represented by the sample.
B. Related in the sample due to chance alone.
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17. A test for homogeneity is to be conducted. Which method shall be used?
A. Student’s t-test for two samples.
B. Chi-square test.
C. Student’s t-test for one sample.
D. Mann-Whitney U-test.
18. When the data are skewed to the right, measure of skewness will be
A. Negative.
B. Zero.
C. Positive.
D. One.
19. Which one of the following is not a measure of dispersion?
A. The range.
B. The 50" percentile.
C. The standard deviation.
D. The interquartile range.
20. The most frequently occurring value of data set is called
A. Range
Median
Mode
Mean

Oow

SECTION B: Short Answer Questions (40 Marks)

1. The following set of data: 9, 8, 6, 5, 8, 6. Determine the variance and standard deviation

(8 Marks).
2. Describe any four non parametric tests used in biostatistics
3. Identify the type of data below as nominal, ordinal, discrete or continuous
i.  Blood group
ii.  Temperature (Celsius)
iii.  Ethnic group
iv.  Job satisfaction index (1-5)
v.  Number of heart attacks
vi.  Calendar year
vii.  Serum uric acid (mg/100ml)
viii.  Number of accidents in 3 - year period
4. Given the following data set (age of patients): 18, 59,24,42,21,23,24,32.
i.  Determine the range of the data set above
ii.  Find the interquartile range of the data set above
5. Highlight the properties of mode, median and mean respectively

(8 Marks).
(8 Marks).

(2 Marks).
(6 Marks).
(8 Marks).
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